N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2 F 2 2
g o g g
=10 E 51045‘ Z
3 > F 5]
L = o Qo
10*F F £
3 : 10°F 3
0% i
E : 102
10°F b E
F : 10E
log--r-o
1:-- 1 -i- 1 1 1 L 1 1 lE_
oV . DQM_mKFit_TTorigmal
T | DQM_mkFit_TTNEWHS_ALLITERS
o 0 0 0 0 0 2 0 0 2 g [
-. - - . ~ 1 - uﬂ - - . -
095 =50-15-10 -5 0 5 10 15 20 25 05 =50-15-10 -5 0 5 10 15 20 25 095=50-15-10 -5 0 5 10 15 20 25 05 =50-15-10 =5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F 2 2
[*} L [5} [5}
g g 8
Sk s £
E q2>10 2
r = Qo
I a
E
3
10? b <
r H : v :
3 102 ameeee AR PARRRE B
é é P
[ 10 F : :
10F e PR RRPRR :'”"':'"{'1
v v v 1 1=_' - i R e - 'H F . . .
'l S T i oL - O_L'u=| 'l S T i oL TEEE FE R R MRS NN FE R
|H il EF L £ | j 5 St
14 h{*#HﬂH*H Ik E lmH 210 F bt -y +++{{*HHH T E
°¥[e—=20 -10 0 10 20 30 %[ 20 -10 0 10 20 30 O¥[e—=20 -10 0 10 20 30 ¥ 20 10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


